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for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
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. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and

must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.
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EDUCATION
Paper - II

1. The IKS aims at 1. IKSOj “le Qi £

(A) Self-knowledge (A) cl-slist

(B) Knowledge of our traditions (B) wugll uuRAle] silet

‘ (C) URMdcaat okl Ag
(C) Knowing the supreme being

(D) CURcioll dlleHlolt UHAGL Yt

(D) Understanding the soul of India sl
2. Justice as a constitutional value 2. oltzella Hey Ay 22 N2A
means
(A) qHletcll
(A) Equality
B) dl&ldxil
(B) Quality (B) 218
(C) Equity (C) A
(D) Opportunity (D) «ls
3. A democratic teacher is s/he who 3. clswdla Qas A sdata ¥ @
(A) Allows noise in the classroom (A) colii e qal

B) Ask -ended questi
(B) Asks open-ended questions (B) vicel Bstauon sl yd

(C) Teaches national values

(€) velluulRs dla 2la yelq

informally @&tl%l w

(D) Is a friend, philosopher and guide (D) Qe He A=A, Rlds wa

to the students Holesls sla




4.

What is the most appropriate

meaning of Aristotles definition :

‘Education is creating a sound

mind in a sound body.’ ?

(A) Only a sound mind can hold a
sound body

(B) Preparing physiological and
psychological well-being is the
task of education

(C} By creating a sound mind,
education also creates a strong
body

(D) The body and mind must
communicate with each other

. What is true about Avidya ?

(A) Wants are at the root of Avidya

(B) Avidya is harmful in every
sense

(C) Avidya is borne of Tamas

(D) Avidya means Apara Vidya

Which one is NOT a characteristic of

relative deprivation ?

(A) Discrepancy

(B) Assumption about the proportion
of expectations

(C) Problems related to social
justice

(D) Comparison on the positive side

4. ARReA WA L cavaell Qe

Qo WY s2Al B ?

{aael AeA olicllel AIRHL Ao
Hoto] HAot.”

(A) HIA AU Het ¥ wncliol AR
uel 53 ak

B) wWARSs ual HARs e
Uscl? 524 3l [Qlawate] st &

(C) du@ Hote] Ut sclloll S1RQ
(el wnalet 3dl2e] u%at 52 B

(D) 231 wal Hote] Wsollost WA
Yelldot AL % ¥ AR

5. adan (A 53 (Al w3 B ?

(A) A AH(Aele] Ho B
(B) ulAal udal ofslatsis &

(C) wdan druiell A &
(D) Qe Aed xRl Qau

6. ollAstl Ule] 52 clarl Aet dRd

yuaq ol ?
A) QoA

(B) uVewxllatl Yauglell e
(C) WHURs uaa oLl Uz

(D) &S1RLHS tilydl sl el
TR TRITEI




7. Arrange from the broadest to the

narrowest.
i. Aim
ii. Goal
iii. Learning outcome
iv. Objective
(A) iii, iv, i, ii
(B) i, iii, iv, ii
(Q) ii, i, iv, iii
(D} i, iii, ii, iv
8. ‘The real task of education is to
destroy the bondage of religion,
creed and caste which delimit

the human psyche’. — Who has
professed this ?

(A) Aurobindo
(B) Paulo Freire
(C) Savitribai Phule

(D) J. Krishnamurti

7. Wl caus w1y wlaeiel Al

AR W ottt sHHL d06.
i. @a

i, LA

jif, WAt ofluey
iv. Ggal

(A) iii, iv, i, ii

(B) i, iii, iv, ii

(C) ii, i, iv, iii

(D) i, i, ii, iv

. Hoploll Aol $B seu i,

HloAcdA, stAell oitualal Beaia] w3
s Qad sle] B wlef YlAulEst
5 8¢ & ?

(a) sl w0l
(B) WGA 3852
(C) w@Alous g&

(D) 8. 3wy




9. Which school of philosophy does 9. dcctslistell 585 Qi Wldloll

NOT emphasise epistemology in [Rat-Rldeti suetllaiaua ytio
?

its educational thinking ? AUl el 2

(A) Realism (A) clcldale

(B) Idealism (B) sueslcue

(C) Existentialism (C) WRActellE

(D) Pragmatism (D) UdslrdALE

10. Indian philosophy is called ‘Darshan’ | 10. @Rl dccRldaAx ‘edlot’ sEcUnl

Which of the following characteristics U B, oflAett UGl 53 carel edletm
is the least important in ‘Darshan’ ? el A He bAA B ?
- (A) 2ERAHACAL
{A) Mysticism
Aajelld
(B) Experience (B) A3k
(C) Realization (C) Ul&UBIR
(D) Intellectuality (D) oll&scul
11. Before starting a school for slum 11. Jusuglui a1zl 12 2l 23
dwellers, the government is SRAME HRBR 5?9
LN

required to conduct

(A) Budget analysis () Blelrun [Qeangl

(B) Zero cost analysis (B) 2ol USR [QsAmal

(C) Cost benefit analysis (C) Usct? et Qe

(D} Cost effective analysis (D) USAR AUl [AeAnyl




15.

16.

17.

For any political party at different
levels of Governance, priorities
should be ‘introducing pro-poor

policies’ for

(A) Education for individuals
(B) Education in institution
(C) Education with incentive

(D) Education with quality and
equitability

Traditionally, education has been
directly related to political and social
discourse, except for

(A) Creating market-based
education

(B) Shaping the nation and state
(C) Citizenship right

(D) Underwriting the nation

Theory of rational choice in education

views that student’s educational
decision is NOT affected by

(A) Student’s utility considerations

(B) Failure expectations in the

choices

(C) Motivation to avoid downward
social mobility

(D) Familial expectation for the
choice

15.

16.

17.

altotoll (AlAU seua slefuel Axsla
U ol A4l o{llAAlell 23

HI@ Letl AUl RS,
(A) €35 W2 Qla

(B) qauni @Qawl
(C) lellgat AR A Qe

(D) opRlattl Wl Ml WA [Raat

wRwlRs 3ld Qe yiatudl uessla
A AHUBs [Qul W HollRld B,
Rcua ¥

(A) oo BURc Blatele] Ael 54
(B) A 4l A% Al 524
(C) aoNR5-5551

(D) 2ol HE wallueldl Adl

Blatedl bl uriedllll Rgid
eold B ¥ dalls (Ao w
ol R Ul otell.

(A) Guaalldl 2idell anell0{l
EEATI

(B) Uiea(lnl & llrgnclell s2

(€) welouHl awHls auldelletdel
o]l il Q20U

(D) uAea(l A géotell UN&UA

rV




12. Educational finance aims at seeing
that the money for education is
spent most

(A) Appropriately and adequately
(B) Judiciously and productively
(C) Effectively and efficiently

(D) Equally and effectively

13. Budgeting in Education means

{A) Financial plan through which
educational objectives are
implemented for a year

{B) Translation of financial need into
financial plan for a year

(C) Financial blue print to support
educational programme for a
year

(D) A plan to calculate infrastructural
expenditure for a year

14. The consolidation of education in
political development is to

(A) Inculcate educational and political
interference in individual

(B) Relate educational attributes
with political attributes of
individuals

(C) Inculcate educational interest
and political interference in
individual

(D) Relate educational institution
with political interference

12. @.&l@s (@Qxt (Finance) ol étj &,
5[&1@5 AR (Money) alell
auRA 8 d ¥d.
(A) AL A valid A
(B) AR5 ua Geutesla da

(C) wUuRs1Rs UA stalan {la
(D) UHlel WA UURSRS A

13. (&l vlelwust Ut WA

(A) A [Adlat (eteigla) wloget 3
Roil g Aeldls dqullell ad
gNallel WHA Sl 2UQ

(B) s «glisla os3Ruteta
RSl w0t Hl URaldd
534,

(€) adlell daildls stlsilal Hee
5013l slllisla oey(Uo2

(D) ardott Hingla Wilell ol
scll Ml2o] lllsal

14. uwsla Qs Rletele] Wilsw
8.

(A) calaul deldls ua Awsla
e aetoftdl (interference)
hoclal We

(B) calzaui gla@ls opell A AwslA
oJllal glseall 2

(C) culsani Aalls U vat AxslA
g0l 3neal 12

(D) Aa@s Heual 2wwsla
gM2ueo(ldl WA Mlsan e




18.

19.

What is NOT true for economics of

education ?

(A) Productivity of educational
institution lies at the heart of

economics

(B) Marketing of the education to

improve labor force

(C) Well-educated labor force is
required for a nation to compete

in world

(D) Better educated workers have

more favourable labor market

Cost effective analysis in assessing

education projects, is

(A) The only approach to compare

education related investments

(B) Based on the costs to achieve a

specific educational outcome

(C) Used when there is multiple
intervention option to support

improvement in education

(D) Used to assess projects how
they forget specific population

of interest

18. (dewgott iglau 12 g Wy ol ?

(A) alls el Geulesdl
vlaguiell seAHL B

(B) HYR GOHL U3 sl HIR
[Rawte] 1Bl 8¢

(C) [Qa A el sc W2 YREAA
HYR ol %33 B

(D) Ay AR QERA stHaR WR
Wf{oL KA B

19, Q& dlyall (YRS )ef HeUiSo

5cll USct? UABRSAL [AaAnel
(cost effective analysis).

(A) Qe dold RSl dest
g0l HiZell As % WERH B

(B) Assy daldls sl Rs e
Hzoll UsdR U wwlRa 8

(C) iR (AR YruAa 251 wUclL
olgldt grcdlu Sl RUR auRlA

(D) ™ tRldcl ARe Al A s¢
A el M & Ad yeliset
scll HI2 AU B




20. Human capital theory is also

known as

(A) Human management theory
(B) Human resource theory

(C) Man power theory

(D) People oriented theory

21. Which of the following is NOT one of

the multiple intelligences proposed

by Gardner ?

(A) Interpersonal intelligence
(B) Musical intelligence

{C) Emotional intelligence

(D) Spatial intelligence

22. If a test is measuring fluency and

flexibility of thinking, then the test

is measuring
(A) Aptitude
(B) Intelligence
(C) Personality

(D) Creativity

20. Hiotd 43l Raid d3l% uxl

L 8.

(A) Hlolal cuarellYel Rgict
(B) Hiolal ¥ Reaid
(C) Hletcl AGA Rgict

(D) s cell Reld

ofl Actimiell el AN el YR
‘wglat ofldrul atell adl ?

21.

(A) wickAuGAs R,
(B) ol call yla
(C) |ABs ojf

(D) wasiella o

® 502l Rlctotoll yeudlet ua
Ad@sclle] HUel 53 B A sHE e

HiYel 53 8 7
(A) @A

22.

(B) 9l&

(C) et

(D) ufetalleicl




23.

24.

Ifan individual excels in understanding
and expressing her/his emotions then
that individual would have a high
score in which type of intelligence ?
(A) Spiritual intelligence

(B) Intra personal intelligence

(C) Inter personal intelligence

(D) Spatial intelligence

Practices such as mentoring,
internship, on the job training
are based on which of the

following theories ?

(A) Gagne’s conditions of learning
theory

(B) Bandura’s social learning
theory

(C) Kohler’s learning by insight
theory

(D) Skinner’s operant conditioning

theory

. According to Albert Bandura, the

expression of aggression is
{(A) A healthy outpouring of energy
(B) A calming outpouring of energy

(C) An encouragement to future

aggressive acts

(D) Likely to increase frustration

23.

24.

25.

% c2l(5el Ulcllotl AAolal yol dl {ld

UUS D el A(Acasd 53 & A 56
sASHL G ylrelisl Al asd ?

(A) weaulMs ool
(B) viddalAs ool
(C) wlcRdaulbxs laell
(D) wastella ofgell

Aoz 3oL WA SozollBiu Bl Aausicllst
el A Aounidll 585 ellafluz
WURA D ?

(A) el vra12tel-UREA[AAA
fladl

(B) diguell Aules veasisl
sl

(C) NectRell Ui alRL AtAUsto(l
llaidl

(D) @etell 5125 vil@Rituatoll flaidl

UEHE GULEA WAUR BsHSALoAl
vlcaulsd o yua & ?
(A) Gxlall cdgRict el

(B) Qlall alildetas @eRl

(C) elQr2Hi visHS cclol Sall HIRe]
Yldlget

(D) &cttaumi gl& atcoll detasit




26.

27'

28.

Which of the following methods
of study of human behaviour is

chronologically the earliest ?
(A) Clinical method

{B) Testing

(C) Introspection

(D) Survey method

Which of the following activities
is NOT performed in educational
guidance ?

(A) Help students analyse their

problem

(B) Organiseclasstalktohelp students

prepare for an examination

{C) Advise students which occupation
they should choose

(D) Help students to adjust to the

regulations of the school

Which of the following concepts
was NOT propounded by Sigmund
Freud ?

(A) Electra complex
(B) Super Ego

(C) Superiority complex

(D) Sublimation

26.

27.

28.

Hlstel cclotoll e SRcllell
{lAottiigll 56 usld siciogsn el
Wl ® ?

(A) GAllsa ugld

(B) 52l L2l dud
(C) veHAdaa
(D) udawa ugld

ala@ds 1Rl dlot il 58 ygRiall
wdel Udl «12fl ?

(A) [Qenella Auell Anzu
AR cHl HEE 5]

(B) udlewell daudl w2 Qene{lzaa
sl HA At adl-aldiciudg
ALYl 5

(C) s cclMl2 UHE sl A
A Qe uce

(D) et ARl WA wogciot
aral 12 QenlA Hee sl

olAc U8l 565 Qeucon Rods s
gl YQuil  «tell ?

(A) 8aset 3@
(B) wi@ wey
(C) A3t 3y

(D) Gleclls21t




29.

30.

31.

The ability to conserve area is
a characteristic of which of the

following stages of thinking ?
(A) Sensory-motor stage

(B) Pre-operational stage

(C) Concrete operational stage

(D) Formal operational stage

‘Assimilation’ and ‘Accommodation
are the processes that are

involved in

(A) Synthesisation
(B) Equilibration
(C) Association

(D) Concept Formation

The most important aspect of

teaching is
(A) Taking classes regularly

(B) Covering the course content

within stipulated time

(C) Keeping students relaxed while

teaching

(D) Making students understand
and assimilates what the

teachers teach

29, ‘Aas50efl UHY RAR Ul als A
gl dotsslell cla@sd 8 ?

(A) WAERS-(Baus dusst
(B) yd-Bauds dotssl
(C) Hcl-(aueus dossl
(D) AuARs-(BaeHs dost

30, UR WU v dENUAL 22U Uotoll
ylzauadl slioll vidola i d ?

(A) dedrls2a

(B) dUdcist

(C) st

(D) ASCUslL-HRAUsAL

31, vl Uote] el wolcdle] Wy 53 & ?
(A) RARAUA aoll At

B) P& sel w1
ueAUSH Y&l s

(C) AtUUet £ 2Lt [Qaeflzia
dellaR(@c Amal

(D) [@Qasl % Mwd A Qausllvl uuw

Al YA A wlg

—




32.

33.

34.

35.

Which organisation is directly responsible
for the professional development of

school teachers in India ?
(A) NCTE (B) NCERT

(C) CIET (D) NIEPA

The best way to react to wrong
answer by a student is

(A) To ask another student to give
the right answer

(B) Toignore wrong answer and pass
on to the next question

(C) To scold the student for not
having learnt lesson

(D) To explain why the answer is
wrong

‘Cone of Experience’ related to

teaching-learning was suggested by

(A) Froebel (B) Kilpatrick

(C) Edger Dale (D) John Dewey

Reflective teaching practice implies
the use of one’s

(A) Recalling
(B) Reinforcement of learning
(C) Cognition

(D) Meta cognition

32. GlRdHl W Blaslen cuau@s

Qs w2 ollAsunisll 53 ddtset ALl
A orcumelR & ?

(A) NCTE (B) NCERT

(C) CIET (D) NIEPA

33. Qe et Wlel waloisl

yldewa suudlell A Ad 566 & ?

(A) ollea 8165 (Qeauellal A GlR
wudle] 53¢

(B) A vllat welotefl Aol 53a
ugdlotl yst uR %q

(C) olRAR ot Allwan secd [Qeuelal
susl vl

(D) Aol welled 585 AA WA B A ue
53¢

34, VAol VLAYl ACoL Vojoiclell 2g

8loj YELL B ?
(A) 8lad (B) Bauls
(C) A2 3 (D) %&lot SYES

35. Rldollais vl Uol cAASRH] 2ol

Guallol sclle] YRA B 7
(A) ¥R0L

(B) wtauActle] YIS0
(C) olluet

(D) u@ollus
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1 36.

Match the models of teacher
education in List ‘A’ with the
description in List ‘B’.

List ‘A’ List ‘B’

1. Behaviouristic a. Knowledge
and skills
are developed

by cbservation

2. Inquiry oriented b. Participants

explore
academic
content by
posing and
investigating
question
Participants
become
proficient
through
demonstrating
mastery

3. Competency c.
based

d. Principle of
operant
conditioning
used for
teacher
training

Choose the correct answer.

A) 1-¢, 2-a, 3-d
B)y1-d, 2-b, 3-c
(C)1-b, 2-c 3-d
(D) 1-a, 2-d, 3-c

36. Qas-ullawiet wArist ua detl
(QaRetell Rl Assi wetlal.
alél ‘A’ aiel ‘B’

1. ddet cell a. Adlawal
glaLsllot

Ul
slatcailell
Qs

el
usl yesdl,
VoAl
53lal
(Anatarg
AWl 8

2. YWl el

aseol
[AyRicite]
Reslat 58l
yellol wa B.

3. 8Hdl WlRd c.

d. Qats-ulla

HL2 518
NREI
Rgicol
Gualol
A B
AU G U¥E S,
(A) 1-¢c, 2-a, 3-d
B) 1-d, 2-b, 3-c
(C)1-b, 2-¢, 3-d
(D) 1-a, 2-d, 3-c




37. Early childhood education has been
included in the context of

(A) Life Goal

(B) Literacy Goal

(C) Millennium Goal

(D) Sustainable Development Goal

38. NISHTHA 4.0 is for

(A) Early childhood care and
education

(B) Foundational literacy and
numeracy

(C) Elementary level
(D) Secondary level

39. The Samagra Shiksha Scheme was
launched (2018-19) with the aim to
universalise quality school education
from

(A) Pre-school to Class-12
(B) Class-1 to Class-12
(C) Class-1 to Class-10
(D) Class-1 to Class-8

40. What is the fullform of NPST ?

(A) National Professional Standards
for Teachers

(B) National Proficiency Standards
for Teachers

(C) National Plan for Science
Teachers

(D) National Plan for Science and
Technology

37. yilals cun-(Qlewtell yudsel s
AelHl scuMl wel B ?
(A) cotctell LA
(B) dalds LA
(C) usAlCE QA
(D) 256 [Aslue] LA

NISHTHA 4.0 HI2 B,

(A) YR(els ou deun ua Qe
(ECCE)

(B) HOe{cl MERAL Bl FuAlHScll
(FLN)
(€) wels sau

(D) HtMs sau

38.

39. sl [Rawlell JqRldTUYS RS
QRlawial dqell ___ kel Hie vy
(Qlan Aeell (2018-19) A3 ScUML

Ll &ddl.
(A) ydauda @aigell e-12

(B) €ret-1 ¢l Qlrel-12
(C) Wzet-1 ol YRe-10
(D) QRel-1 &l €al-8

40. NPST of Y3 sd 9 & ?

(A) National Professional Standards
for Teachers

(B) National Proficiency Standards
for Teachers

(C) National Plan for Science
Teachers

(D) National Plan for Science and
Technology




41.

42,

43.

To evaluate a curriculum is to act
for formal determination of the
effectiveness and value of

(A) input and product
(B} product and principles
(C} processes and domains

(D) context and cognition

The NCTE join hands with the
following to develop curriculum
for general teacher education
programme

i. NAAC

ii. DEC
iii. RCI
(A) i and ii
(B) ii and iii
(C) i and iii
(D) 1, ii and iii
“Curriculum is a sequence of potential
experience set up in the schools for
the purpose of disciplining children
and youth in group ways of thinking
and action.”

What type of elements this definition
contains ?

{A) authoritarian, developmental,
sociological

(B) unfoldment of learners, moral,
idealistic
(C) idealistic, moral, formal

(D) democratic, moral, informal

41, VEAUSH] Heisa 524 A2A

oll WUHREAL W HERUg]

WUARS Auiel scl Hi2e] sl

59,
(A) ALl wal [l
(B} Eold wal Rgidl

(C) ylBaud ua A
(D) deal wa el

42. [Qeis-ulRlawl el dd At

sl2lsH dalz sl HI2 NCTER Sloll
Sloll e el & 2

i. NAAC

ii. DEC
iii. RCI
(A) iand ii
(B) ii and iii
(C) 1 and iii
(D) 1, ii and iii

43, “vleAlUsH A Ao HIZ2 s Aa

datfAct mojeidloll guet B ¥ %oll
GRal sl sl U Yeitelloll [Quren
dal (Baulal a-2ellsd Ad BeguR
Rlrolg saHl wud 8. - u

cAVALHL sl YslRell dael
Qe B 2

(A) wulRsiauel, @stacus,
UHlesauzlla

(B) uAcle] ygceta, allds,
we dlenel

() uedalel, dlds, AWuURS

(D) Alsadly, d@s, valluulRs




44,

45.

For curriculum transaction, what
is the correct order of instructional
processes ?

(A) Analyse, Develop, Design
(B) Develop, Analyse, Design
(C) Design, Develop, Analyse
(D) Develop, Design, Analyze

Which designs are appropriate for a

- subject-centred curriculum ?

46.

(A} Life situation oriented design and
reconstruction design

(B} Process design and intervention
design

(C) Humanistic design and product
design

(D) Broad field design and process

design

Steps involved in implementing the
Individual Need and Interest Model
of Curriculum involve

i. assessment of objectives

ii. assessment of students

ili. assessment of learning

iv. implementation curriculum
(A) i, ii, iii
(B) ii, iii
C) i, ii
(D) i, ii

and iv
and iv
and iii

and iv

44, veAlusH fluicial 2 Ut gt

ylsaalloll ARA sH s & ?
(A) [Qedmpl, [@Asty, Aot

(B) Qs (QeAwgl, duell
(C) dusl, [Asy, [Qeanal

(D) (Asid, U, QeAne

45, (A dodl veaAlsH Ul HI2 58

B8t Guejsal & ?

(A) Ddat-URRAMQA 306l u
Yot S2usltctell
(B) u(sal (3o38et wal €M 2ue10(l3]

(S o3eet
(C) Hietatctat €l ual uRRUH cal

B Bteset

(D) cus & Boaset ua uldal
(3os185et

46. eAUSHo 501 3R e

W Rl N3cte] vHALS20L s

s Alollell AHLASL 2 D P
i ddulle] Heisot

i, (QenellAlef Heatisot
ii. wlete] YIS

iv. vleAlsHe] wHcls0L
(A) i, i, iii wa iv
(B) ii, iii wel iv
(C) i, ii Wwa iii
(D) i, ii WX iv

—



47.

48.

49,

Curriculum change does NOT entail

(A) Systematic sequence ranging
from goals to means

(B) Creating conditions for productive
work

(C} Involving change devoid of
emotional factor

(D) Requires competencies in
different combination at
different point of works

Curriculum development is a complex
undertaking that involves

(A) implement both the content
understandings and objectives

(B) choices must be restricted certain
types of learning experiences

(C) decisions are to be made how
a teacher is comfortable in
evaluation

(D) choices are to be made how
curriculum should have
restricted domains of study

What is NOT included the CIPP
model ?

(A) Overall goal evaluation
(B} Input evaluation
(C) Outcome evaluation

(D) Learner evaluation

47.

48.

49,

weAMsH URadetrl g wuldwe

otefl ?

(a) 20l HidlA well yelodl
yaucllug aisa

(B) Gewes sl 2ol WRRA
Uefol

(C) ellellers WRonl cotRetll
URctelotoll A1

(D) slelotl WAL UAIN dessIHL yEL
ol Slstell uclell aricliell 32
uld 8.

veAYsHell [Asiy As Asa
sl ELR] (undertaking), 8 %

a UisA B.

(A) [Avadrgell aues wa dqall,
olRlell WHE

(B) AlssY USlRall kAol Bajoicilell
ueaflall uR AR uldeit

(C) Heaisal Qas 58 A usw oo
8 Asll [Ael2 Aal

(D) weAwUsH 58 dlad AeUYsil
Wl HaUE A oleltaal defl
waeolzq

CIPP HI3cHl alal ALctalHi «tell
Lclg?

(A) calus taue] Healise

(B) wUILcA-HEALSoL

(C) ollux-ycise

(D) wtdcilo] 3caisel




50. The definition of curriculum as 50. “sltol WA Hloiclldoll Wojeiclotl YHIY

“Curriculum should be conceived adnetl ylds 3N weaAsUA
as an epitome Of the rounded Wh0].e [a.e_uqo.u al.cll ﬂ&ga.” By clull a@
of the knowledge and experience of

8¢ ane <xp Ul ocl?
the human race” is given by

A) RlAd

(A) Froebel &) %
(B) Munroe (B) 3t
(C) Taylor (C) 2l8AR
(D)} Bacon (D) Asel

51. Due to which type of the following 51. s3loll o{lAsttriell s ystedl

items of the test the range of scores (Qaldlad 51201 YUlictislall Qzcu2
increases ? atl 8 ?
(A) Too easy (A) v drA
(B) Too difficult (B) vot 58t
(C) Average difficult (C) ur2a 5(dat
(D) Combination of A and B (D) (A) 2o (B) of [#s1al
52. Select from the following groups 52. oA WA HIY gl (Hiust
of scales taking level of precision, sa2Q) ol ol ofl WsuLESol] QQ A

from low to high as a criterion.

dluciell GUElolt sHetl HIUESA
(A) Ordinal, Nominal, Interval,

Ratio L2tatHl Al Ws g ue 5.
(B) Nominal, Ordinal, Ratio, (A) sucell, sl e, 2Rl
Interval

(B) ounctell, sHetell, ofulr, vde
(C} Nominal, Ordinal, Interval,

Ratio (C) stncell, sucell, vdd, Iel?

(D) Ordinal, Interval, Ratio,
Nominal

—

(D) sHeall, vicRid, LR, sinetel




S53.

54.

The research conducted by Pavlov to
develop classical conditioning theory

of learning is a type of

research.

(A) Applied

(B} Action

(C} Fundamental

(D) Correlational

Which of the following statements are

correct in terms of research.
1. It is a systematic process

2. It leads to enhancement of

knowledge

3. Hypotheses are tested in some

types of research

4. It gives expected solution of the

problem
(A) 1,2,3,4
B) 1,2,3

(C) 1,3,4

D) 1,2,4

53. st wWelduel Rgidel @Qsiu s

e Qacld se dalluet 3l
Yslq] A uUat B,

(A) cauaslRs
(B) (Baueus
(C) waue]

(D) USUOGLULMS

54. Usltoiell UEH] ot Aoitiell 5201

Qeusll A ® ?

1. A As cAdRd yEa 8

2. A slletoll [AslH 4§ €13 2 B

3. NS UsRell Auadlml

Gescuatloll ustuel e 8

4. o AHRAUL U@ A G¥et 2 B

(A} 1,2, 3,4
B)1,2,3
€ 1,3,4

D) 1,2,4




55. Which of the following can NOT
be an intervening variable in
the context of “the study of
effectiveness of a particular
teaching strategy on the
achievement of students of Grade

IX in Mathematics” ?
1. Study habits of the students.

2. Reasoning ability of the

students.
3. Grade IX.
4. Achievement in Mathematics.
(A) 1 and 2
(B) 2 and 3
(C) 3 and 4

(D) 2, 3 and 4

56. Which type of hypothesis is “There
is difference between job satisfaction
of the teachers of government and

private secondary schools” ?
(A) Null

(B) Non Directional

{C) Directional

(D) Statistical

55. «qlRQl-1xett [QaielRAe{ el [@Anan
Rl uR WssA AtaUat g Uslloll
VAU Vel deelnl o(lAatHiell

sl A Adadl uct o 8 2% ?

1. ([Qauellefl weaux 24l
2. RadRAA ddata

3. tlrBIX
4, @l Quani R

(A) 1 wa 2
(B) 2 ual 3
(C) 3 wa 4
D) 2,3 uRA 4

56. “UsL3] v viletol Hitw®s suoue

Raslelt sl AAY a2 dsicd 8.7
UL s YsRe(l Gescuoll © ?

(A) ge
(B) (ot auyus
(C) Rayus

(D) visauzlla




§7. Out of the following, which are the | 57. |22l GscUalloll Wl 52U B ?

: sources of hypothesis ? _
: 1. ycrisluolol wdaud

! 1. Previous research reports

2. uisstauzllal Yyl
2. Statistical techniques

3. ddllusel ydlagedl

f 3. Pre experiences of the
researcher 4. delltol GUsWL
4. Research tool 5. dallusoll iy
5. Insight of researcher A) 2, 3,5
(A) 2,3,5
(B) 3,4, 5
(B) 3,4,5
C) 1,3,5
(C) 1,3,5 ©)
(D) 1,3, 4 (D) 1,3, 4
58. Which of the following is NOT a 58, o{lActmiadl 565 s azll «tall ?
correct matching ?
(A} Bredoll wallon - oumciel
(A) Jersey numbers -  Nominal A2 (RAOH) HY
of cricketers scale
(B) Weight of _  Ratio (B) (Aeneladle] coget - QMR MU
students scale
(C) Superior — Ordinal (C) et 2utlul — SHiS
performance in scale uslatdl Bulla HW
singing competition _ )
(D) vidoyell AR - 5His MY
(D) Scores in English -  Ordinal sAlell YiLcis

achievement test scale




59.

60.

61.

If t’ value obtained for particular data
is 9, then what can be said about the
F value for the same data ?

(A) F=3
(B) F=0.9
(C) F=9

(D) F = 81

While studying the attitudes of
married women towards social
media, a researcher continues
interviewing them until the
satisfying findings are NOT derived.
Which paradigm of research does
he follow here ?

{A) Grounded theory
(B) Case study
(C) Ethnographic study

(D) Narrative

The main purpose for which a teacher
asks students to maintain a reflective
journal is

(A) To enhance attainment of

instructional objectives

(B) To enhance participation
of students in learning
experiences

(C) To provide more scope for
reflection on learning activities

(D) To enhance learning based on
reflection

59.

60.

61.

ol AssU YET HI2 4’ o] HERUL I HEY
At Al A % YEtt HIZolt Fycu (A 9
58l aslaL ?

(A) F=3
(B) F=0.9
(C) F=9

(D) F = 81

UREI 1ol RS MLl
Yol ccBllell e sl cutad As
Yaus AAUSRS ARG ot HA &l

Yefl UREA HEaL Bo2Re) Aclle]
AULE AW B, W&l A Yelluatall s

URYeduell MHA 52 D ?

(A) 2GS Ll
(B) clsel wealy

(C) AesULEls vieau™
(D) S8ULHS

Qe Rldetlens saled drcl

Rdcllo] 53l WM Hut ) 520 B ?

(A) 2ailds 3qell RlML Aatet
XD

(B) wti2et wejeic il [Qanello]
USHO(lcAtHl crutl sa

(C) wtadot Yo@ulHl Rldet sl
AR ds wuudl

(D) Aol 2R WUl g
5l

- —— -



62. If the feedback is given immediately | 62. %! yldelc Ul drd & ylAwg
after a response, it is UMl A A A sl YslRe]

(A) Corrective feedback ylauuy & 2

(B) Predictive feedback (A) YURLHS

(B) USRS
(C) Positive feedback (C) &SRLHS
(D) Negative feedback (D) sislAcHs
63. The main purpose of displaying 63. (QauellAot WEAA0A Ye Rl
portfolios of student is gclloll Jual &cf A & ?
(A) ;FO Sl{owcftie _th‘; Vsr if—'tY in . (A) wddl luictol QYU usu
or
earning attained by learners Rl ud 8 A yelld sdla

the benefit of parents to prove

that students are learning el ealag 3 Amet cttell

(B) To convince the students that A2t 53 €U B
they can learn and motivate them (B) QA ellvll 261 & Aoll vl
to put more efforts (QeneflAa snccll wal Aulal ay

(C) To showcase the developmental
changes and highest level
of learning attained by the

Hdolcl 5cll HIZ AR 53¢t
(C) [@statcHs ulRcdoll wal

learners (Qlanell0R Yl 53 vtIletoll
(D) To provide concrete proof of Ul ¥dra yelld 524l
classroom learning to the (D) drttllada otss? Yl wucl ¥
authorities colHi vttt US 26 B
64. Students are sitting in small 64. (QausflR oitatl gl Al
groups discussing and framing [Axaterdett As vis uel GudR

HOT questions from a piece of

Qa2 Hid Ao ysl 220 60 8.
content. This scenario describes S ks a

AULURE 2R Alof aaglot 53 § ?

(A) ABL (A) ABL
(B) PBL (B) PBL
(C) Blanded learning (C) QDS BtL2lel

(D) Concept teaching (D) AsCUall vt Usl




65. A researcher wants to study
the communication process in
classroom in its totality, Which of
the following would be the most
appropriate for this study ?

(A) Flander’s interaction analysis
system

(B) Galloway’s system of interaction
analysis

(C) Audio recording of classroom
process

(D) Interview of students and
teacher

66. If a teacher is providing learning
experiences to develop ‘Objectivity’
among the students then which of
the following domains is he trying to

work with ?

(A} Cognitive domain
(B) Affective domain
(C) Spiritual domain

(D) Psychomotor domain

67. Which of the following is the basis of
observation in Flander’s interaction
analysis of classroom teaching ?

(A) Verbal behaviour of teacher and
students

(B) Non-verbal behaviour of teacher
and students

(C) Both verbal and non-verbal
behaviour of teacher and
students

(D) Verbal behaviour and silence of
teacher and students

65. U5 Aus adluioll it ulsaedl

AR AR weAH scl HIA B, A
R ol Aetl UL 53] Well GRA & ?

(A) $Qo520{l cldlcalasl? [Qeangl
yeuell

(B) detaedl adlcaasiz [QeAue
youell

(C) adl-uBaue] taldysl
(D) (QenellAl ua Rlawsloll BoeeR|

66. 35 (dats [QeaudlRAM wetlcHBlcell
(sl scll MR vt wajelcll YU

YISl 6L B, Al 3l sl & vicddld stal
s3 @D ?

(A) olltitens

(B) aualcHs

(C) wiraulMs

(D) He2dRs

67. $Ao520ll cdlcadsi-[AsAnuLetl

UUCASololl WU SAUL B P

(A) Qas wa [Qeanelleti ks el

(B) Qas wa Qeanellall waulcks
elclall

(C) Ras wa Qenlleti 2l s ua
vk s cdell

D) Qas wa Qauglotl 2ok s adall
s aild




68.

69.

70.

A difference in the assumptions of
Flander’s and Galloway’s system of
interaction analysis is in the

(A) Importance of verbal behaviour

(B) Importance of non-verbal
behaviour

(C) Importance of pupil
participation

(D} Importance of teacher initiated
talk

Which of the forms of teacher
self-assessment will NOT involve
verbal descriptions of levels of
performance ?

(A) Check list

(B) Rubric

(C) Rating scale

(D) Achievement test

Which of the following pedagogic
alternatives is most appropriate if the
teacher wants to enable her students

re-examine existing practices and
structures ?

{A) Constructivist
(B) Critical
(C) Technology based

(D) Activity based

68.

69.

70.

§Qe5? Ul Aol cdleatasl?
QeAuutell yeuellHisu sau 9)@ciul
dAslalcd uWd 8 ?

(A) ks adetell oL

(B) ualcEs ccdetoll uodicy

(©) (Qznellell Aseusllcell voLel

(D) @Rasell udctell 213 Ul actell
WY

Rlatsell weiyclisetall sal Ul
Aullelt 2ullel (performance)ait ¥Rl
et s agletell 1A otell Al ?

(A) vlouuel
(B) djLliset-2ogail
(C) H HIUES
(D) Rl& 58l

As [Blas 20 B ¥ Aot [Qanela
BlCtoll RAASIRL WA HIOHIRAL]
Yot udlatgl sall AH olal. uL M2

2l Ys(Re] Wk Uol AR ALY
owu ?

(A) HRAelcL]

(B) AUAUeHS

(C) dAs@sl aeuRet

(D) yg R




71.

72.

73.

The primary purpose of ICT
integration is for

(A) Promoting concerns for economy
in use of resources

{B) Enhancing student involvement
in learning

(C) Reducing workload of teachers in
terms of transactional hours

(D) Optimising learning outcomes

Critically judge the following.

Assertion (A) : Education is the
key that unlocks the door to
modernisation.

Reason (R} : Development of
technology facilitates interaction
among people.

Code :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

{C) Only (A) is true but (R) is false
(D) Only (R) is true

Which of the following principles
is used in shaping behaviour in
Skinner’s operant conditioning ?

(A) Principle of successive
approximation

(B) Principle of keeping the response
simple and complex

(C) Principle of reward and
punishment

(D) Principle of keeping the
response sweet and soft

71.

72.

73.

ICTell ¥Mocle (integration)ell Y@

3d &

(A) Aclett GUHL e ool
A (QulRaA Yldllget qycll

B) sl (Qanellslell aneolldl
auRdl

(C) Ut Ustell SCEUSloll YETHL
Qatslell steier snell 5A

(D) el AR cutrdl

ofl Aol sttt 3L [AAUAHS

(Aefal Al

w@sact (A) : Qe A uylslsel
£l victelle(l el B.

51201 (R) : dAgo(lslall (st A a2l
B YRuessts ood 8.

Add -

(A) (A) Wal (R) 6l LU &

(B) (A) ¥ (R) olal wileL &

(C) 85l (A) ALY B ULl (R) WE B

(D) §5cL (R) WY D

@yot2ell 5125 Wl UM adet

sl ol Actimisll s2u Rgiciall

Guallol sRAH] WA B ?

(A) 5B Vel (approximation) el
Rgict

(B) UQaal U el U Avcltsll
Rgic

(C) SollM (reward) Wal Aloll Rglct

(D) ylQaza {18l vial otH Aviellall
Regic




74.

75.

Video conferencing is an example of

(A} Synchronous technology
(B) Asynchronous technology

(C) Both synchronous and

asynchronous technology

(D) Hybrid technology

Given below are two statements, one
is labelled as Assertion (A) and the

other is labelled as Reason (R}.

Assertion (A) : In classroom
communication, socratic
questioning is one of the
effective strategies to promote
understanding.

Reason (R) : Feedback through
student evaluation of teachers
enhances the quality of classroom
communication.

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true

(C)} Both (A) and (R) are true but (R} is

not the correct explanation of (A)

(D) Both (A) and (R} are true but (R}

is the correct explanation of (A)

74.

75.

(Astall sloglAoL o
GeleRw 8.

(A) RSt WAl

(B) w5\t JNBIS]

(C) R AN UA RS YRS
(D) s dldl@ 8l

olA A (Qtutell UM v B A s
wlelsauat (A) B uat ofloy 5120 (R) 8.

ullsuat (A) - aoluls AR
AHogoll [Asi sal HRell As
WASRSE Ugld & WABRs ust ugld

5128t (R) : Raslotl (QauellA st 2l
Heaiset gl At yldnglel astvis
Aguelell oplart Yur B.

(A) (A) U3 B U (R) Wig &
(B) (A) Wg B uQl (R) WY B

(©) (A) ¥l (R) clal il B, ugl (R)
(A) of WY aglet otell

(D) (A) Wl (R) Giol AL B UL (R) A
(A) of WY aelsl B




76.

77.

78.

Given below are two statements

Statement ~ 1 : Use of ICT in
research is a super-imposition that
should be discouraged.

Statement - 2 : Research ethics and
its observance has to be a mandatory
requirement.

In the light of the above statements,
choose correct option :

(A) Statement 1 is false but
Statement 2 is true

(B) Statement 1 is true but
Statement 2 is false

(C) Both Statement 1 and 2 are
true

{D) Both Statement 1 and 2 are
false

In different levels of teaching, problem
solving ability develops at

{A) Knowledge level
(B) Understanding level
(C} Reflective level

(D) Memory level

What is the full form of DIKSHA ?

(A) Digital Initiative for Knowledge
Sharpen

(B) Digital Initiative for Knowledge
Shaking

(C) Digital Initiatives for Knowledge
Shake

(D) Digital Infrastructure for
Knowledge Sharing

76. (1A QA (Quilell WulHl 2Ll B,

[Qtitet-1: ICTe0 sgluotHi Gualla
Ws ctllRAo] GIRQL B Aal Asg AU,

Quttot- 2 :elttotell ARG 2l
Ao Wctel $AB2ULA vUagusdl Sl

A5

Gulsd Quiellott deoldl R @scu
UYE 53,

(A) Quet 1 Wlg B ugl Qe 2
UY B

(B) [Qutet 1 03y & ugl Qe 2
wig 8

(C) [Qeet 1 ol 2 ol U D

(D) ([Atutel 1 AR 2 oicl W2l B

77. vraAUstell QAU sauul Ul AHRRA

G atHcloll (s salln

Ul 8.
(A) sllet seudt

(B) uHX s&lA
(C) Rlctollats sau
(D) ¥y saual

78. DIKSHA Y3 atH g 8

(A) Digital Initiative for Knowledge
Sharpen

(B) Digital Initiative for Knowledge
Shaking

(C) Digital Initiatives for Knowledge
Shake

(D) Digital Infrastructure for
Knowledge Sharing




79.

80.

What is the full form of NISHTHA ?

(A) National Initiative for School
Heads’ and Teachers’ Holistic
Advancement

(B) National Infrastructure for
School Head Teacher’s Holistic
Advancement

(C) National Initiative for School Head
Teacher’s Holistic Advancement

(D) National Infrastructure for
School Heads’ and Teacher’s
Holistic Advancement

Which among the following should be
the criteria to assess a teacher-made
ICT resource ?

1. Language
2. Content validity

3. Availability of app at learner’s
end

4, Time-taken by teacher in
development of the resource

Choose the most appropriate answer
from the option given below :

(A) 1,2 and 3
(B) 1,2 and 4
(C) 2, 3 and 4

(D) 1 and 2 only

79. NISHTHA o] Yz ollH 9 B

(A) National Initiative for School
Heads’ and Teachers’ Holistic
Advancement

(B) National Infrastructure for
School Head Teacher’s Holistic
Advancement

(C) National Initiative for School Head
Teacher’s Holistic Advancement

(D) National Infrastructure for
School Heads’ and Teacher’s
Holistic Advancement

80. (Ql&ts RRAA ICT ¥l cllo] AAUNe2 5l

12 o(lAotimiell sy HIUES) dlal
efleful P
1. eun

2. @y argell asusial
3. wtAdl Ul Ay (App)ell
Guciotidl

4. ¥lldoll [@Astu s HE Qe
e yH

o1 el @Ascqxill Wl A
[Ascu ude 53 -

(A) 1,2 U 3
(B) 1, 2 uA 4

(C) 2,3 ua 4

(D) &5l 1 A 2




81. SWOT analysis implies the four
processes involved in management.
Select the correct one.

(A} Submission, Weakness,
Opportunity, Talent

(B} Strength, Wellness, Obligation,
Threat

(C} Strength, Weakness, Opportunity,
Threat

(D)} Submission, Wellness,
Obligation, Talent

82. Select incorrect types of
management.

(A) Centralized and decentralized
(B) External and internal
(C) Dependent and independent

(D) Autocratic and democratic

83. Make correct pairs.
A B

i. Contingency 1. Hersey and
model Blanchard

ii. Management 2. Bill reddin

grid model

iii. Situational 3. Fiedler
leadership
model

iv. Tridimensional 4. Blake and
model Monston

(A) i-1,ii-3,iii- 4, iv-2
(B) i~3,ii-4,iii-1,iv-2
(C)i~2,ii-3,iii—1,iv—4
(D) i-4,ii-2,iii-1,iv-3

81. SWOT [daA™Bl calerRallUst 118
dsaAcl wR uBazla Auish 8.
o(lAetHiel]l 0 [Aseu ue 53
(A) uoHlatet, otowouss, ds, yldel

(B) w22l Juitsdl, waleeldl, et
(C) WML, duouss, ds, &
(D) duHlatet, Yuustdl, saleeldl, e

82. cldRUUsioll Wlal UslR UE s,
(A) 3ehd ol (A¥leRct
(B) ollel vl WicRs
(C) URcAA el it
(D) AUUYE A A5l

83. URA s\ wotlal,

A B
i. Sodloredll Uldmtot 1. &l wal
oclsLs
ii. NolwNez ols 2. [Ble ¥Slat
ylautet
i, RyRAslelct 3. Gsar
ot YlAMtet
iv. QuRugla 4. As Wb
YldMist Hloeol

(A)i-1,ii-3,iii-4,iv-2
(B) i-3,ii~4,ili—1,iv-2
(C) i-2,ii-3,iii- 1, iv-4
(D) i-4,ii-2,iii-1,iv-3




84.

85.

86.

Select the weak point of

transformational leadership.
(A) Normative approach
(B) Comprehensive approach
(C) Emphasis on policy

(D) Emphasis on vision

Who is considered as father of

psychodynarmnic traits of leadership ?
(A) Carl Jung

(B) Sigmund Freud

(C) J. H. Pestalozzi

(D) Alfred Bandura

Six sigma, aiming at performance
improvement, uses problem solving

practices in which sequence ?
(A) AMCID
(B) MACDI
(C) DMAIC

(D) CDAMI

84'

85.

86.

gl 3ttt Adgectall stetoll ollota
e 53,
(A) wRRUHSs UM

(B) udoudl wlAox
(©) ollld Uz eu

(D) £(R (vision) UR @2

Adjcclotl Helloteltens Jellatl Rt 3
wllslai wua .

(A) st 2jat
(B) Rods a18s
(C) 2. WA Al

(D) W3S digA

tulld (Rladet)ul Yulie] ceA Avicl
¢9 RO (six sigma) uHRAU B3
@RISR (practices)oll Sl SHML
Guallol 52 & ?

(A) AMCID
(B) MACDI
(C) DMAIC

(D) CDAMI




87. Find out the Japanese model of

change.

(A) Lewin’s change management

model
(B) Ikigai model
(C) Kaizen model

(D) Bridge’s transition model

88. Which one of the following is NOT the

Motto of NAAC ?
(A) Excellence

(B) Accountability
(C) Credibility

(D) Relevance

89. If a cost benefit analysis does NOT

appear right in a situation, one

should go for

{A) Estimated value analysis
(B) Cost effective analysis
(C) Decision tree analysis

(D) Extrapolated cost analysis

87.

88.

89.

UReicdeoto] asutell ylaniet 200l

(A) Aclote] URetdet cacRuUUst
yldHtet

(B) &58laue] yldHiet
(C) SLEMel UMl

(D) (o}osej 2ledsaletct WQntet

NAACq] LA clisel 59 ool ?

(A) Gegredl
(B) GRelRe

() ([Quuoflacl

(D) Yrdelell

% 8165 URRA[AH] usd? clet [Aesdmet
(cost benefit analysis) Al «t A3
Al oll Gualal scll .

(A) weRe yeat [Qeanet

(B) usclr vUBRs [Qsduel
(€) (Al gat [Qeamul

(D) ARWNARS UsdR [QAnel




90.

91.

92.

In which year the International
Network for Quality Assurance
Agencies in Higher Education
(INQAAHE) started and where is
the Headquarter of the agency ?

(A) Paris, France in 1961
(B) Barcelona Spain in 1991
(C) London, UK in 1971
(D) New York, USA in 1981
How many articles are there in
UNCRPD ?
(A) 49
(B) 51
(C) 50
(D) 48
Which are the barriers of inclusive
education in India ?

1. Lack of physical facilities

2. Lack of teachers with
disabilities

3. Lack of awareness among parents

regarding inclusive education

4. Lack of digital text books

5. Lack of flexibility in curriculum

(A) 1 and 3
(B) 2 and 4
(C) 1,3and 5
(D) 2,4 and 5

90. Szl Azad Sl sAll@dl

VRN AWxol el sL212
WAxedotol (INQAAHE) suR 23
U Wl Aof Yy HUS sUl B ?
(A) 196141, ARY, Sl

(B) 19914, stdAlett, et
(C) 19714, clsel, UK

(D) 19814, «22\5, USA

91. UNCRPDHI $c 32cll sctll & »

(A) 49
(B) 51
(C) 50

(D) 48

92. allRclHl AHLAS ([B&Rletl WAL

saAL B ?

1. olllds ylAraded weua
2. WM YAl [laslell el

3. acllziui Wude Qe yddll
22 (Asll e

4. ([Aong (digital)UlsayeiSloll
el

5. BeAUSHHL da[sdladl vleld

(A) 1 ua 3
(B) 2 al 4
(C) 1,3 el 5
(D) 2,4 AU 5




93. Responsibility of all kind of
coordination for implementing

was assigned to social

justice and empowerment ministry

of India.

(A) National Policy for Persons with
Disabilities - 2006

(B) NEP - 2020
(C) Programme of Action — 1992
(D) NEP 1986

94. 21 types of disabilities are defined in
(A) RCI - 1992
(B) PWD Act — 1995
(C) RPWD Act - 2016

(D) National Policy for Persons with
Disabilities — 2006

95. Which are the ways of curriculum

adaptation ?

(A) Assimilation and

accommodation
(B) Assimilation and modification

(C) Accommeodation and

modification

(D) Modification and flexibility

93. ol AUHA HIZ dAHIH YSlRe]
Uscot scle] st sale{l oselleeld]
LRl AHURS U2 ol HAGASW
ot aa AuetHl vl edl.

(A) R cauiorrall w2 Al AR 2006
(B) NEP - 2020

(C} WolH 3% As2Uol-1992

(D) NEP 1986

Hi 21 usiell watarg

e vl @ sl 2w B,
(A) RCI - 1992

94.

(B) PWD Act — 1995
(C) RPWD Act - 2016

(D) R caaiatarell Hi2 A\ 2ol 2006
(NPPWD-2006)

95. weAUEH UojgClotell Al 58 8 ?

(A) uRUtuet Ual dglloidl UL Uet

(B) uRulust 4l YugaulA
(modification)

(C) g Aol WY W
YRR
(D) YHRIARL UA AdRSdl




96. Which of the following are the
essentials of inclusive education ?

1.

Balanced and multilevel
curriculum should be
developed.

. There should be provision

for cooperative learning in
curriculum.

Instead of making the students
adjust with school, the school
should adjust with students.

Game-based teaching methods
and techniques should also be
used during teaching learning
process.

Special children should be
taught by the special teachers
only.

(A) 2,3,4,5

(B) 3,4,5,1

(C 1,2,3,4

(D) 1,2,3,5

97.

says that instead of saying
that a person is having disability we
should inquire at which level of own

efficiency a person is able to work.

(A) NCF
(B) SSA

(C) NEP 1986

(D) ICF

96.

97.

ol Aoumiell mud e Rlawisdl

vagAsAl 58 8 ?

1. dd@d Aal sgedila
weALUsHoAl 226l &l ASA.

2. WeALUSHHL UL vtauetoll
RoLelles Slcll S,

3. (Qaueloll quou U vojgctol IR
dq saa sed wouA Qe
U Wogclel U HESA.

4. dtaAUs wAA YBaAH W
VLR . BeA Ul Ugld M
Y2j(sctlloall Guallol ugl Ul
5.

5. QR wnsla [Qfte RasiA o
(Rletel vuug S,
(A) 2,3,4,5
(B) 3,4,5,1
C) 1,2,3,4
(D) 1,2,3,5
58 8 3 calsal AsHA

YRAA B Ag sdallad sle@ d Welloll

gHdlell 58 sa 511 53 23 B Aol
AUl sl gl
(A) NCF

(B) SSA
(C) NEP 1986
(D) ICF




98. is a conceptual frame work | 98. W A AsCUALMS HLOY
that describes disability, health and 8, % c(seloll WRHAL, 22l WA
functioning of a person. 52l 1{6\[?[?.;{101' aulet 52 B,

(A) ICF (A) ICF

(B) NCRPD (B) NCRPD

(C) RCI Act (C) RCI ACT

(D) Person with Disability Act 1995 (D) Person with Disability Act 1995

99. Which of the following provisions are | 99, (cidolwall H12 Al ol[Q-2006 M0

made in National Policy for Persons LAy 1ol 585 SlolceS il SUH]
with Disabilities — 2006 ? wel B 2

1. Person with Disabilities will be 1. el uatcth @A Reaiiol
known as “Divyang”. a3 wWaueaunl wad,

2. To prevent disability by 2. WR@ls saul usHdlal xavllal
identifying it at preliminary aal wesiadl
level.

3. Transparent system will be 3. WaHA ?qu"ﬂ c@f5eisl
developed to provide disability UEH AL UHIQUA Ul M2
certificate to the person with wRels calaall dllsactHl vl
disability.

4. Care of the pregnant woman 4. Glas U&HA HL;Q. ot %ail l-.ll.é
will be taken so that child will wiel uldetell dewn Avanl
not born with disabilities. e

(A) 1,2 and 4 (A) 1,2 vlal 4
(B) 2,3 and 4 (B) 2, 3 ¥l 4
(€) 1,3 and 4 (€) 1,3 uUal 4
(D) 1,2 and 3 (D) 1,2 ¥a 3




100. Which of the following tasks are
assigned to Rehabilitation Council
of India in Amended RCI Act (1992)

in the year 2000 ?

1. To prepare central rehabilitation

register.

2. To prepare standard curriculum

for special education system.

3. To train the persons who are
not eligible but provide any
service on professional basis to

the person with disabilities.

4. To prepare trained human
resource toc work in the area of

rehabilitation of disables.
(A) 1,2and 3
(B) 2,3 and 4
(C) 1,3 and 4

(D) 1,2 and 4

100. RCI Act (1992) Hic™ 200031 Sl
AUAA YRl Yool etcllal Yotcddot

URYERA ol AoiiHiell saut st Quasl
AL & ?

1. Jodlad YoldUat 2922 dAR 5.

2. {Ale Qe calcren W2
YHIBRlA wmeuusH daulr s:d.

3. cllasid of wgadl sl A odl
UHH A5 cauls 1A

sleurl Aa Y3 wsdl &t aaqt
el aauel.

4. WM ASlell Yotdustel Aaui
siH scll Hi2 el Hida
dulat daR s:d.

(A) 1,24 3
(B) 2,3 uUA 4
(C) 1,3 uxA 4

(D) 1,2 ¥ 4

| PN e




SEAL,

Space for Rough Work




